[ Efficiency_in_layer_8 §}

liloeseooegooces0eoootocestoctoes

0-0-®

0090 0000000000090000900

>
(&) — *
c —
2L 09
= =
< 0.8
@ —
0.7 —
0.6 =
05 wheel 2 chamber 1 sector 6 sl 2 layer 4 I
o |
3

10 20

[ Efficiency in_layer 7 |

30

40

50

cell

>
(&) —
c —
QL 09
= —
= —
© = —
0.7 —
0.6 =
05 wheel 2 chamber 1 sector 6 sl 2 layer 3 I
I |

1 090900090000 00090000000000000000000000000000000000000¢000¢

10 20

[ Efficiency in layer 6 |

30

20

50

cell

>
(&) L
c —
QL 09
= =
= —
© = —
0.7 —
0.6 =
05 wheel 2 chamber 1 sector 6 sl 2 layer 2

1 L 909000000000000000000000000000000000000000000000000000000

10 20

[ Efficiency in layer 5 §}

3

0

20

50

cell

>
o —
c —
o 09|
= -
= —
= 0.8 =
0.7 —
0.6 —
05 wheel 2 chamber 1 sector 6 sl 2 layer 1

11000000000000000090000000000000000000000000000000000000009¢]

10 20

20

cell



